ZESTAWIENIE OZNAKOWANIA PIONOWEGO

' Nazwa Stan |Warstwa| Km | Szt Nazwa Stan |Warstwa| Km | Szt
D-1 pri | ga_znaki| 31+381] 1,00 ||B-36 ist | ga_znaki| 31+616( 1,00
D-21a pri ga_znakif 5,  4ac| 1,00 {{B-22 ist ga_znaki| 31+641| 1,00
D-21a prj ga_znaki 1,00|[B-22 ist ga_znaki| 31+656 | 1,00
B-36 ist ga_znaki| 31+453| 1,00 }|D-6 ist ga_znakif 31+659] 1,00
D-1 ist ga_znaki| 31+469] 1,00 ||D-6 ist ga_znaki| 5, +665 100
T-16 ist ga_znaki 314517 |00 JIA-17 ist ga_znaki 1,00
A-30 ist ga_znaki 1,00 }|B-36 ist ga_znaki| 3, , coal 1,00
D-6 ist ga_znaki 1,00 §|D-1 ist ga_znaki 1,00
- + 314545 - -
D-1 ist ga_znaki D-1 ist ga_znaki 31+699 100
D-6 ist ga_znaki 314551 B-21 ist ga_znaki 1,00
B-36 ist ga_znaki B-36 ist ga_znaki| 31+711| 1,00
B-36 ist ga_znaki| 314551 D-1 ist ga_znaki|31+781| 1,00
D-1 ist ga_znaki| 31+587 D-6 ist ga_znaki| 31+998| 1,00
T-16 ist ga_znaki| 5, +597 D-6 ist _ga_znaki| 32+004| 1,00
A-30 ist ga_znaki B-33 ist ga_znaki| 32+021| 1,00
B-21 ist ga_znaki D-1 ist ga_znaki 1,00
D-1 ist ga_znaki #1460 T-6a ist ga_znaki 2504 1,00
D-1 ist ga_znaki 1,00
T-6a ist ga_znaki L 1,00
D-1 ist ga_znaki| 32+119| 1,00
E-15b pri ga_znaki 1,00
E-15b i | aa_znakil 21?7 100
B-33 ist ga_znaki| 32+136] 1,00
E-4 lkw ga_znaki 1,00
E-4 tkw ga_znaki F2+148 1,00
E-6a pr ga_znaki 1,00
E-4 pri ga_znaki = rnlds 1,00
E-6a Ikw ga_znaki 1,00
E-6a lkw | ga_znaki| >+ %8100
E-6a pri ga_znaki 1,00
E-4 ol | ca_znaki| 2+ 1100
D-1 ist ga_znaki| 32+204| 1,00
E-15b prj ga_znaki 1,00
E-15b pi | ga_znaki] >2"2*7 [1.00
A-17 ist a_znaki 1,00
D-1 lkw ga_znaki i 1,00
ID-1 pri ga_znaki| 32+446| 1,00
D-1 ist ga_znaki| 32+551| 1,00
D-1 ist ga_znaki| 32+670| 1,00
D-23 pri ga_znaki| 324+690| 1,00
B-36 ist ga_znaki| 32+706 | 1,00
D-23 prj ga_znaki 1,00
D-23 lkew ga_znaki| 32+716| 1,00
D-23a lkw ga_znaki 1,00
D-6 ist ga_znaki| 32+735| 1,00
D-6 ist ga_znaki 1,00
D-1 ist ga_znaki ke 1,00
D-15 pri ga_znaki| 32+791| 1,00
A-3 ist ga_znaki| 32+808| 1,00
D-15 ist ga_znaki| 32+849| 1,00




